
Y3 – Spring – Block 2 – Step 4 – Metres, centimetres and millimetres Answers

Question Answer

1

a)

b)

c)

d)

e)

Children may have said millimetres for part a).

2

multiple possible answers, e.g.

3

a) >
b) <
c) >

4

a) There are 10 millimetres in 1 centimetre.
b) There are 100 centimetres in 1 metre.
c) 10 millimetres is equal to 1 centimetre.
d) 100 centimetres is equal to 1 metre.

5 worm

6

a) Dani
b) any height between 101 cm and 130 cm

Children are likely to have different answers.

7 2 cm     98 mm     98 cm     1 m     3 m

8 any measurement between 16 mm and 49 mm

9

a) No
The height can be measured in millimetres, but it is not the most appropriate unit as 
the number will be very large.

b) metres or centimetres
A door is about 2 m high, so metres could be an appropriate unit. If the height is not 
a whole number of metres, it would be easier to use centimetres.

✔

✔

✔

✔

✔
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